(D) puuha

%) oy

Asennusohje

29.8.2025

T240065 (1/5)

i 1) [+
(] = +

Asennusaika Ikaryhma
0,5h / 2hld +1v.

Kayttgjia
kerralla
1

Pituus

395 mm

Korkeus
310mm

Leveys
385 mm

© 2017 Puuha Group Oy



@ puha

17240065 (2/5)

Asennusohje 29.8.2025

L 394 . 386

ol

|

3

. 400 _ . 400
@48
——N—r—

© 2017 Puuha Group Oy



(D) puuha

(3/5)

Asennusohje
ME-00065 \1 ME-00087 | 1 | |HL-00459 \1 RU-00039 \ 4 | |RU-00005 | 4 | |[RU-00012 | 8 | |RU-00050 \ 4 | |RU-00049 \ 4
1 @ | o ? P

© 2017 Puuha Group Oy



PUUING

Asennusohje

Maa-ankkurin asennus

(4/5)

ME-O0087

__—RU-00050
o Kuusioruuvi M8x20

g
~—ME-00087

-RU-00039 M8 Mutteri nyloc

100

Maavara 100 mm

300 - 400

Kerroksen paksuus
riippuu
putoamiskorkeudesta
ja turva-alustan
ominaisuuksista.

>300

Hyvin tiivistetty
maa-aines esim. murske
(0-32mm, 0-64mm)

Terd&sjaloille kaivetaan
kuoppa
500mm x 500mm x 700mm

© 2017 Puuha Group Oy



(D) puuha

T240065 (5/5)

Asennusohje 29.8.2025

A

>

K

N5

/RU-OOO49
Kuusiokoloruuvi uppokanta

%T

M8x25

~_—RU-00012
Aluslevy 8x16

———RU-00005
Hattumutteri M8

© 2017 Puuha Group Oy



